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çñÇÞë Ñ (1) ÚÔë É ­fÞùÞë µkëß ±ëÕù.
(2) ÚÔë ­fÞùÞë ÃðHë çßÂë Èõ.

1 Ú½ßÞí ìÞWÎâÖëÞë_ É\Øë É\Øë ÀëßHëù ÇÇùý. çßÀëßÞí ÞíìÖ ±ë ìÞWÎâÖë çðÔëßí åÀõ
Èõ ?

±×äë

1 ÛëßÖÜë_ ÂÇý-äõßù ±ÕÞëääëÞù Àõç ÜÉÚñÖ Èõ ? ÖÜëßë µkëß ÜëËõ ÀëßHëù ±ëÕù.

2 ÛëßÖíÝ ±úzùìÃÀ ZëõhëÞí ÖðáÞëÜë_ ÀòìæZëõhë Õß çëÕõZë ÀßÚùÉ ±ùÈù Èõ ÖõÞë ÜÖ
çë×õ ÖÜõ çèÜÖ ×ë±ù Èù ? ±ë çÜVÝë À´ ßíÖõ ìÞäëßí åÀëÝ ?

±×äë

2 ÛëßÖÜë_ ÞëHëë_Õ_ÇùÞí ÀëÜÃíßíÞð_ ËíÀëIÜÀ ßíÖõ ÕßíZëHë Àßù.

3 çõQÝðáçÞÞë ½èõßÂÇýÞë åð© ìç©ë_ÖÞð_ çËíÀ ÜñSÝë_ÀÞ Àßù.

±×äë

3 ÛëßÖÞë ÖëÉõÖßÞë Àß ÜëâÂëÞð_ ÜñSÝë_ÀÞ Àßù. ÜñSÝ T²ì© Àß (Value Added Tax)Þë
ç_ØÛýÜë_ ÛëßÖÞë èëáÞë Àß-ÜëâÂëÜë_ ÖÜõ åð_ çðÔëßë çñÇäåù ?

4 ÞùîÔ áÂù Ñ (ÃÜõ Öõ Úõ)
(1) 1991×í ×Ýõáë ßëÉÀùìæÝ çðÔëßë
(2) áõÎß ä¿
(3) ±ù@ËÿùÝÞí ÞëÚðØí
(4) ìäÀçÖë ÉÖë ØõåùÜë_ ßëÉÀùìæÝ ÞíìÖÞí ÜÝëýØë±ù.

±×äë
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4 ÞùîÔ áÂù Ñ (ÃÜõ Öõ Úõ)
(1) ÛëßÖÜë_ Àëâð ÞëHëð_
(2) ½èõß Õç_ØÃíÞù ìç©ë_Ö
(3) ÂÇý-áëÛ ìäfáõæHë
(4) äëBÞßÞù ìÞÝÜ.

ENGLISH  VERSION

Instructions : (1) Attempt all questions.
(2) All questions carry equal marks.

1 Discuss various causes of Market Failure. How government policy
can correct it ?

OR

1 Is there strong case for introduction of Expenditure Tax in India ?
Give reasons for your answer.

2 Do you agree with the view that relatively agricultural sector
is undertaxed as compared to Indian Industrial Sector ? How
this problem can be solved ?

OR

2 Criticallly examine working of Finance Commissions in India.

3 Critically evaluate Samuelson's pure theory of public expenditure.

OR

3 Exaluate present tax-structure in India. What modifications you
would like to suggest with special reference to VAT ?

4 Write notes : (any two)
(1) Fiscal reforms since 1991.
(2) Laffer curve
(3) Abolition of octroi
(4) Limitations of Fiscal Policy in developing countries.

OR

4 Write notes : (any two)
(1) Black Money in India
(2) Theory of Public Choice
(3) Cost-benefit Analysis
(4) Wagner's Law.


